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3. B4a df(z)/dz = g(z) B h(z) =2 Bl Lf(h(z)) FRT 77— @R ?
| A) g(z3) B) 3z%9(z) ©) ¢ (z) D) 3z?g(z®) B) 2°9(2°) °
4, HFHZARRME » I EERERE D
T cos (37'” + h) — cos (3—;—)
hlfé : h

(A) IR 1 B) HERE 2 (C) &RA 0D ERA -1 (B) BRRAFE

5. ZHAA T Flo) $AHESHE > A lim, o 3 f3+h (z)dz HFRT 7 —1E:ER 7
(4) 0 B) F(0) ©) F(3) D) F(0) ®) F'(3) -

6. Note that z = f(z,y) where f is differentiable, x = g(¢), and y = h(t). It is known
that g(3) = 2, ¢'(3) = 5, h(3) =7, B(3) = —4, f»(2,7) = 6, and £,(2,7) = -8.
Determine the value of dz/dt at t'= 3.
(4) 62 (B) 30 )32 @) -2 (E) 1

7. Let g be the function given by g(z) = [ 100(t* — 3t + 2) exp(—t ?)dt. Which of the
following statements about g must be true?

1. g is increasing on the interval (1, 2).
II. g is increasing on the interval (2, 3).
ML g(3) >0

(A) I only (B) 1I only (C) III only (D) II and III only (E) L, 1L, and III -

8. If dy/dz = ysec*z and y = 5 when © = 0, then y =
(A) e -4 B) e®** + 5 (O 5% (D) tanx + b (K) tan:n 4 be”
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0. % 2= f(z,y) L o=rcosd R y=rsinde HHTIAMERALER?
. A & = % cosf (B)—g%:r(—sinﬁ-%g—kcos@-%é)
© 5 37" —icosgﬁ-k»icosﬂsmg
D) & arz = J00529+2m3%605951n9+2—*i8111 Q(E) Brae %é%cosg_a_.gsmg

2 pV2z—a?
f / (z? + y*)dydw.
0 0

_‘_’}%_ T %) aﬁ,}%élﬁ ﬁi_ﬂ—‘—l‘g Y7

4 I RRT I

A I = lr/?zju?cosﬁ r3drdd )I_fw/Z f2cosl9 2 drdf
© I= [[fa®+y?)dA > £ FQBHR(L0)RHE +4‘“%1éﬁl’§]§fi
©) I =4[, cos*6db ®) I <4r

11. Let A be the region bounded above by the graph of y = sin(z) and below by the
graph of y = 7% — 4z.
(A). (2.1,0.8) falls into the region A.
(B) The area of A can be represented by fog [sin(rz) — (2° — 4z)] dz.
(C) The area of A is equal to 4.

(D) The region A is the base of a solid. For this solid, each cross section per-
pendlcular to the z-axis 15 a square. The volume of this solid is equal to

fo sin(rz) — (z° — 42)]” dz.

(E) The region A models the surface of a small pond. At all points in A at a dis-
tance z from the y-axis, the depth of the water is given by h{z) = 3—=. The

volume of water in the pond is equal to fo (3 — z) [sin(rz) — (:._c — 4z)] dz.
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12. (164" Let f(z,y, 2) = wyz Find the maximum and minimum values of f subject
to the constraint =2 + 3> + z* = 3.

(2) Use Lagrange multiplier to obtain the system of equations to be solved. (7 )

(b) Find the maximum and minimum values of f. (8%)

13. (154 | .
7 = / / exp [—(z® + 2oy + 3y")] dA
Q.

where €, = {(z,)|z? + 2zy + 3y* < L.

(a) Evaluate I(1). (10%")
(b) Find lim,_,e I(7). (657)
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